(2) BHS A ERAR =R

AN TR R
% Nk (HAL FH. %)
- | TR 2 8 4B YRR 2 7 EERE FERE IR
. ’ TR B | WA | T B B | MEREE | M B A | R
1 % W& e E =R O BRR 503,807 85.2 452,400 85.4 51,407 11.4
2 fEH OB &k O F KK 1 0.0 1 0.0 0 0.0
3 A & 84,409 14.3 74,665 14.1 9,744 13.1
4 H B 4 1,636 0.3 1,636 0.3 0 0.0
5 & 1 A 1,013 0.2 1,013 0.2 0 0.0
A & 590,866 100.0 529,715 100.0 61,151 11.5
ik KA (HfAr TH. %)
- | TRk 2 8 4 TRk 2 7S PR R ek
: ’ TR B | MEAE | T R B | MR | T E B | sEEeR
1 OIS A 4 588,219 99.5 527,068 99.5 61,151 11.6
2 3 B3 H 4 1,010 0.2 1,010 0.2 0 0.0
3 T fid 7 1,637 0.3 1,637 0.3 0 0.0
a & 590,866 100.0 529,715 100.0 61,151 11.5
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AT E A2 —
(T2 490 et = R MR AR Bl 2 =)

O : FRFEE O: LhFHE (HAr  FM)
wooE A4 Bie N MR AR -

ER A | £ DA, — R

R R AL D 590,866 0 0 589,229 1,637

PRBRAE G 590,866 0 0 589,229 1,637

% 31 5t R LSO B AN ) 4 588,219 0 0 588,219 0

PRBRUEHE ] 4 1,000 0 0 1,000 0

PRIBBHE NG 4 10 0 0 10 0

T % 1,637 0 0 0 1,637

& 590,866 0 0 589,229 1,637
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